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1. BEFHIA
OERBEIA
EHFEEZIF A 24,000 23,888 -112
EEZEFF 171,000 155,350 -15,650
REKAZWME LS 3,200,000 | 3,200,000 0
QHEUXA 0
LTEESZIRAA 1,000 705 -295
EEFHILAG 3,396,000 | 3,379,943 -16,057
2. BEFEHITH
ODB%EXZH
B & 2,600,000 | 2,600,000 0
EXEE 2,600,000 | 2,600,000 0
QEHEXH 0
=i 100,000 88,000 -12,000
EEH 390,000 388,800 1,200
EHRERFHH 325,000 324,000 1,000
BIEE 10,000 0 -10,000
NERE 5,000 1,072 -3,928
HIER-ME 10,000 19,740 9,740
XIFEH 20,000 26,990 6,990
EEBAER 0 0 0
EEE 860,000 848,602 -11,398
BEFREWE 3,460,000 | 3,448,602 -11,398
BRI ELE —64,000 -68,659 —4,659
I BRETHIRZDOI
1. REFHIRA 0 0 0
2. EEH 0 0 0
BREEHINTELE 0 0 0
I BAFEENINZDER
1. A EHIRA 0 0 0
2. A7 RS 0 0 0
B EEIN =48 0 0 0
LHAUN T £ R -64,000 —68,659 -4,659
ATEAfR IR T =48 2,658,104 | 2,658,104 0
REFE N T = 5E 2,594,104 | 2589445 -4.,659
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